

$$1) a) (x^2 - 9)y'' - 2y' - 4y = 0$$

$$P_0(x)y'' + P_1(x)y' + P_2(x)y = 0$$

$$P_0(x) = x^2 - 9$$

$$x = \pm 3$$

$$p = -13 - 0$$

$$p = 0 \quad (-3, 3)$$

$$b) y = \sum_{k=0}^{\infty} c_k x^k$$

$$y' = \sum_{k=0}^{\infty} k c_k x^{k-1}$$

$$y'' = \sum_{k=0}^{\infty} k(k-1) c_k x^{k-2}$$

$$IS = (x^2 - 9)y'' - 2y' - 4y$$

$$= (x^2 - 9) \sum_{k=0}^{\infty} k(k-1) c_k x^{k-2} - 2 \sum_{k=0}^{\infty} k c_k x^{k-1} - 4 \sum_{k=0}^{\infty} c_k x^k$$

$$= \sum_{k=0}^{\infty} k(k-1) c_k x^k - \sum_{k=0}^{\infty} k c_k x^{k-2} - \sum_{k=0}^{\infty} 2k c_k x^{k-1} - 4 \sum_{k=0}^{\infty} c_k x^k$$

(A)                      (B)                      (C)                      (D)

$$\sum_{k=0}^{\infty} 9k(k+1) c_k x^{k-2} = 9(0)(0+1) c_0 x^{-2} + 9(1)(1+1) c_1 x^{-1} + \sum_{k=3}^{\infty} 9k(k+1) c_k x^{k-2}$$

$$= \sum_{k=0}^{\infty} 9(k+2)(k+1) c_k x^k$$

shifty  
2

$$c) \sum_{k=0}^{\infty} 2k c_k x^{k-1} = 2(0) c_0 x^{-1} + \sum_{k=1}^{\infty} 2k c_k x^{k-1} = \sum_{k=0}^{\infty} 2(k+1) c_k x^k$$

shifty

plug back in

$$IS = \sum_{k=0}^{\infty} [-9(k+2)(k+1)c_{k+2} - 2(k+1)(k+1)c_{k+1} + (k(k-1) - 4)c_k] x^k = 0$$